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PAPER I-GENERAL STUDIES AND ARITHMETIC 

Full Marks - JOO 

Group .-\-50 Marks 
Group 8-50 Marks 

& Gc11crc1I illstntCTicmsforAll Candidates. 

S,p.mw.· ..\11s,n-r Books to bt" used for Group-. .\ and Group-B. 

( [11 cas1.· c1 c zndidar,· wriu-s answ,-rs to questions 011 Group•B in the ansH·cr book 
mramfor Group-.-! or ,;ce•Yersa. such ansll·crs ll'ill nor be emluated.) 

\\"riff tmsH·trs only ar rh,· designated space of rlzc answer book. No a11s11·er of 
a CJlffSrion 01her than in tlze space pro,·idedfor it slza/1 bt• ernluared. 

{fthc questions am.·mprcd are i11 excess of prescribed 11umber. 
only tlzt.' questions am:mprcd.first up to tht! prescribed 111m1ber 

shall be e1·aluated and tlze remaining ones ignored. 

GRot-P-A [Gr..,c:R.-\L STrnIES) 

. ..\nswers may be gfren either in English or in Bengali or in 1Vepali 011/y .. 

b:cr all the anSl1·ers must be in one and the same language. In case of any doubt or dzscrepa11cy,

the Board will relr on the English l·ersio11 011{r. 

All questions carry equal marks.

��iu ��"'?:' � .,.,-:.;qri I

J/r-4 ::n J/>;I cr:1 WfH 3FF-I

AnSlrer any jfre questions.

� � 91� 2f�°9 @'M ¢-i:!i,; I

rf � >rl;lcr.i'3m�I

10x5=50 
( 150 words e.ach) 

2. Write a note on West Bengal co\'ering its location and extent. number of districts, population. area.

landfonns. ri\·ers. climate and narural resources.

- � = -:,-,-:n =-=-=-� ......-n-.,::r r.; ...,.=&
"' 

qr,�<,Y?. :..<tl.,, 1< �1 !., '·""�,o- ."..; , c' .. ,•,,-<J,, ..... ,�,;,"', 'S:-.,....,.,\!;, ... 1, ... 1:-i1, 1e,:-i<1111_ '6 �,em ..!l<:r,

- . .,,�rl..c......
:::<f1!.¢ �-;, .ri� , .... ...,�.·, 1-:., I

q�qt{ .,j,nt"1�1 �-1111<:1'?1 �. f--,mlevi �. -.,11B@I, �. �. �. si-\flqlg 3lA suqJoq, .f!Uli!_lchl

<>:,-....,, ,;h!.3 I
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WBPRB/PSl(M)/2018(GSA) ( 2 ) 

3. Write a note on Fundamental Rights of Citizens as guaranteed by the Constitution of 1ndia and

recent verdict of Supreme Court of India regarding fundamental rights.

161�'6){) �,�� mm � 161�-sl{J ,ns1ffi<t>llHl � ��{j� �<i, � � ���<"-¢ICG1 �l�Cl!J�

"'i_� � '51ltlf'Ct.:il1ll � �'f � I 

�'tjfq��� �� 3TitrcfiRJRR� � l:m#rrn �� �� � � 
�) fcltil!41 � I 

4. What is Tsunami and why does it occur? Write a note on its devastating effects.

� � .Q<l', C¢rf �� �? �"?f �,� � �� �<15ffl �'f WT I
WJl1TT �"ID 3lA ?:IT fcfi1 �? � � �H-Htl<%1 <tfRITT � I

5. What is plastic pollution? What are its effects and what steps can be taken to avoid it?

''A� '[<l'f' <1i1? �"?f � � �<I',�� @91ror � 2fm(f <1>"?fT <Im?

·�1ffl<h�'�m?�����.a:rf.J��-rr,:fc);-��T[-;f�,

6. What are the causes of Global Warming? List and explain each of them and their interconnectedness.

Fl'x.t W<l3WC'f"?f � <$t <1?t? ��� m '511ca,I6.:iI � �<l', � ��R
e
m�,

� "31IU@T � $1{0l(t{i(9 W0? � chl{Olt<i<hl <iITT111 � .a:rR <l1 <hl{Oltlicfil qm:qf<ch �� � � I 

7. ''Manual scavenging is a scourge of modem India". Please comment.

':.Jci<l�r!/9J.��<l�r! '5ll� 16HIC�� �"1191'- � <!TI� �9f.ffif � <f'RT � I
��-��TR anWfcn � 3lf,rar:r m-?:IT Fct4ll4r 3WAl "tIB cfO'R TR,

GROUP-B [ARITHI\IETIC & REASONING]

ARITHMETIC 

Steps in arriving at the answer must be shown clearly in the space provided in the answer booklet. 

Failing to mention the steps will be liable to deduction of marks. 

Answer any five questions. 5x5=25 
1. A monkey could climb 6 meters of a round pole in I minute but slipped 3 meters in the next minute.

What time will it take to reach the top of the pole which is 21 meters long?
�<lifu <Wrn� I � �<f.fu c��,� •mm 6 ffltm � � � � filHcU� 3 � � � '5llv11���21 ��lfr����C�?
�� l �6 � 7flC'll<h{ &KIT�WPJm: 3ffi f'-l121il 'fflr 3 -f.,...,....=�?T""l"rt � ,:, t 

lt-tC.� \l\'I 1"9�1'.. �'"'-11 I���iGk1121 fim"ffi-rft��q;fu��? 
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( 3) WBPRB/PS/(ltfJ/2018(GSA) 

2. In a certain product, the profit is 320% f th 0 0 e cosr. If the cost increas b 259«: b the Jr remains constant what · th 
cs Y ' ut ,.. se mg pnce

• JS e percentage of profit now?
� �<i$ +..f%',,,{..1H.:,...,

C_->-t � �'i ��"ltftint 320% ...,,R. :-7 ,... ,... ,.. ,.. ,..,, o I <11-T l.!l'�J{-=iJ 25% �I-::, ?fro� ,�I"! -.7'J '"!::?r-:;-: !. !. 
�. � �� � Xf�<fS'!'ll �'i �? 

� 

� � �lffiiN � � � ==' 320<¼ -:;,: , � � c,''1'fll O vi <1Jc � � 25% � •.w: 7 � � � 
qfhnf➔ -➔7ft, 3T<if � >mmo q;fu �? 

· -

3. Of the three numbers, the second is twice the first and also three times the thfrd number. The average
of the three numbers is 44. Find the largest number.

� �,� �� N0l�ro 2$� �'1 ��, ���w?S �A�'i r fl,1;t; 'i�,Jrn � 44 ?,�,,, <;?.{:-. ,,�.w

Ff��,

F 'ITT"➔ fi@I(;{<', qt2) � � >i� fi&-11cfi) � 3TR � 4@1:i-:1 oR TIT� I� 4•241:i-:, t·.t•

44 � oFr � 1M � i[�II � � r

4. A 20 litre mixture of milk and water contains milk and water in the ratio 3:2. 10 liters of the rnbcrure
is removed and replaced with pure milk and the operation is repeated once more. At the end of the
two removals and replacement, what is the ratio of milk and water in the resultant mixture?

�� 20 � 1!� -s � �'1 if.<1 -e � �?(R; 3:2I ?f?I� �'zrn' 10 f;i�,� ��=r .£i r..�q (�� ;'��
Rm � ��'i 1f4 cwctWTT � r � -!l°<f-1 � �'i 1_<1 e ere-.,� �� � �?

� 20 � � "tJRT � �� 3fj'4'ffi � 3:2 1 <ratJfu �-HF-412 10 @2"{ f1i:f,rfc·1<f1 3#i � � 4RC111q-:,
� � Pn::11�cli m=rft � � � ef.:J <TITT �I� � 3RftrT �q � q,.;;�, fi:r� � �,a s-z?

5. In an examination 60% of the candidates passed in English, 50% passed in Mathematics and
20% failed in both the subjects. If 150 candidates passed in both the subjects, what is the total

number of candidates?

��?fffi•.;,1�60%��.50% "'1"1c���.!1<1�20% �:;� j<;<;(� !..<f.:.¢1f�1w
150�ffiW<irn��.�c:rif;���,��?

� -meyrqr 60% aill;.ilq,, 50% 11fi,1c1q1 fcm"r�llm � 3lR 20% fcw,efl��- � fqq4,n if?.;:r �, 4f<
150 fcror�¥ � -qra 1-Jtt. ,;fOTT fcrrn� ml cfifu f�?

6. The expenses on wheat flour, meat and vegetables of a family are in the ratio 12: 17:3. The prices of
these articles have increased by 20%, 30% and 50% respectively. The total expenses of the family
on these articles have increased by what percentage?

� -!l<l5ffl' ?!@<lll�HI 'if@�. �� -!l<l� 1:,ffi\:1-i'l<f.ll?HI fyij �� "!r,J_� J 2: 17:3 r � :§ f�f.:,.,. �f¼J?i
� "- c::;  - � 

� <1� 20%, 30% -!l<l� 50% 1_1'11 ?fro, �C<l -!i ··'IRP11C?E1 m �mo <r.z XR;l�"l 11� �?

� � 4Ri:4r<cfil � arra, � �o.,Jlc61 � ar:rmr 12: 17:3 �, �<ii f:if1l./t;J+i#i1 'e'T'1� 20%, 30% 
31R50%�� \l1t, cf, qf<cm261 �Tfroqifo�� s-a? 

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
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REASONING 

You are on foot patrol in a busy shopping complex and are called to a disturbance in a pharmacy .

l. A arrive at the front door of the pharmacy a man rushes out the door and crashes mto your

s you fl Th th continues runmncr

partner, a fellow policewoman knocking your partner to the oar. e man en · e 

away past other patrons through the mall. . . " 

your partner rolls onto her side revealing a small stab wound under her nbs, crymg out ,  He stabbed

, ..me. 
You should: 

(A) Call an ambulance and immediately pursue the man who stabbed your partner.

(B) Call an ambulance and stay with your partner to provide immediate first aid. 

(C) Use your fireann to shoot the offender. 

(D) Go into the pharmacy to further investigate what the disturbance was all about.

Why do you think the option you chose is the most appropriate one and why are the other three

options not the most appropriate. Give reasons for each. 
5

1. '5119@1 .Q� � � �� 9frol � b�cit-tlRf � � �� <i>1�f>h * �� �'>ffci �.:ro5 C9f?FA I 

C<l � '5119@1 �1��� 1£1.iC--t� � � l!lVf C�, � � �� � � � � �-a, �<l�

'5119fOM ���cil1Wf"l<t\�C<r �����I����� C� � � c,1� 

'5119fOM � � � � �<t>l'il� � '511�--tfl'f � �bCiii--1, ",s� � '511�� �<tSt�Rl

�1'' 
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( 5) WBPRB/PSl(M)/2018(GSA)

2. You are on the street where a man and woman are been arguing loudly and pushing each other
around. You and your partner are trying to talk to each person to find out what has happened.
The best positjoning for this discussion is:

(A) Both of you together in the centre with the man on one side and the woman on the other.

(B) Both of you next to each other on one side and the man and woman next to each other facing
both you and your partner.

(C) The two people in the centre and one of you on either side, facing in. One of you talking to the
man and the other talking to the woman.

Legend: Man/Woman; You/Your Partner. 

Why is the option that you chose the most advantageous and why are the other two options not 
the best ones. Give reasons for each. 5 

2. '51191A � � � � � <!!� '5.!tCilil"<lS -6 '5.!t��ilil <.� � � � f.m1 � <fi��,:i
��� � � �� � I "5119fR '6 "511� � '<3'Tivrn �QJ <fi� � � <fi?l�ri �
���<Tm I�� '5!1Cilil6-il-il iSi""iJ '511� ql�IC"il-il �QJt<f) "'5W1l � �-

(A) "511� � �� ql�ICiil-i <!!�� <!I� '5.!-t&tl<fi <!!�, '51-i.lMC<fi �a��ilil ql�lei:1.:i 1 
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WBPRB!PSl(M)/20I 8(GSA) ( 6) 

(C) 1!1 � �7m;;:! '11�\tci--1 �<i� '51l?fimn C<i � �<fi 911r.ct 111\?ICci-1 I '511� l.!l� '6!iCc'ilC<fi�
�� .!l<i, 15llc.?l<t>-G'H \!::)a�Rcirn �� <t>QJ'l � 1

5 

2. �e.lf2ltil�7RJ��an'-t 9,�4<.'"11{ �-�� fclt:(4Glocfi"TR �-�����I
� 3lR � ��cfiGI cft 5&'511IBll �-� � G{TTf 1"ITT �ll,$1cffi cfiRUT "'5l'F{ ��I � �
cl41{��"3f'��

(A) �°¥���3lR�3'.IR�t:(fll{����: 

(B) d41��� °¥ \lf1l � -330341 3'.IR i::tfuFIT 31A 9,�4<_vll� � m-� � \ ct4l�c:hl ,Ei�q-;'11
��liITT:
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{C) ���l llfu8t aTf.l 'I�•k11J � f4;lqf� 3#1 (lq1��:{<, 1F� "f%-;JRT f�� 1Tftt, � qfi.;,•m-i•1Jlf.l 3-r<:hf �ffill �TTTT_;r<:fil CfiRTJ1 � � ti.-,.9 I

0-►@ 
@10 ��; crn{� � 

:f 

3. You uttend a traffic a<:cidcnt al a four-way traffic intersection. The final position of a black and,�hitc cnr ar� d�pktccl below. The rough sketch shows the damage points on the black a�d white car.1 he arrows rndu.:atc the normal llow of traffic (driving on left hand side of road). North 1s toward the
lop of the diagram. 

--➔ -------

I 
I 

! i
I 
I 

�------­
¥=, < 

I G-J 

t : I 
The most likely cause of the crash was: 

(A) The white car approached from the nor.th and t�e black car approached from the east.
The two cars collided in the centre of the mtersectJon. 

(B) The white car entered the inters�ction f:om the west and the black car entered the intersection
from the south. The white car Jut the side of the black car . 

(C) The black car approached the intersection from the so�th and t�rned right towards the east.
Tl I . ched from the north and crashed mto the side of the black car 1e w 11te car approa . . . . .

(D) Tl bl k . ached the intersection from the south and turned nght towards the east 1e ac · car appro · ·d f h bl ·• h d from the west and hit the s1 e o t e ack car. The white car approac e 
'Which is the correct answer and why? 

5 
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> 
------

A)-------
-,,:-r= < 

lj_iJt-11fG '<Wm� ��511 �Cf-

(A) � -m Mc� \5ll){Rai �<f� � � 9['f'M c� \5ll){Rc'1 1 � � �� �

�� �R� � I

(B) � - "Im Mc��<:[��� met Mc����<!)� I��

�•?fte"f��,

(C) � - met Mc����<!)� 'ff'��� 151-iMcAS <JFli Hrn�c'J I� 
- ffl m c� \5ll>iRiif �<f� � � 9flCXt � mBr 1 

CD) � -�ct M c� � �� <!l� � � � iSl-1McAS � P1c��c'\ 1 �

-�MC�����9flCXt��,

5 
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( 9 ) WBPRB!PSl(M)/2018(GSA) 

,'If! 1.(3'1 q((
� ("$mn) .fi"l'll � � 5'1&11'"1 � '1�0 I 5<f&l1q1 � -11 3!f.lmiJ

J, 
-

aW'!l <lfl �-,, 1 <IB'"1 � -1! 3!f.l miJ ,mail li1fu � �@<'%! -,, I -a\i: FR,A <l161'"1

l'I� JI'[[;'. it>f 1<(%1 -,, ( S1616<i<-11{ � <[;A 00) I ""1ail ffi,1p11f� om � f,elf;<Pift:i%\

'01 

> 
-------

s,tjt-ilq{\ � cffiUT; 

(A) ���fc!!<tlql2.3lRqiW1l��fc;�llql2.�f� I���� �1q�41 dlf#Zil l

(B) "fun cm�� 3#{ qiW1l cfiR zj'a.,ui fc;�llq12. �-� I mTT qif@ cfilfTl � �

�I 

(C) qiTffi cm �iUT cfR: 3lTm 31f.t oo � � lFTT 1 � tfiR -am fc;�llqli! 3ll<TT alf., <fiTffi cfiWm

��I

(D) �cfif{�,tJ!qg3Wll3lROO��lFTTl�cfiRfflli kWq(c3Wll3lRcfiWncfiRcfa

��I 

5 
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4. (i) Find out the next number in the following series: IOxl=IO 

� � � ��d Flcfu � 

f11;1f�1forn � w w=i � �:

0, 1,3,4,6,7,9, 10,?

(ii) Pointing to a girl in photograph, Mr. Ghosh said, "Her mother's brother is lhe only son of my

mother's father." How is the girl's mother related to Mr. Ghosh?

iil= � u1� �� �� '-arITTl���� <!f<frn u1� � 1' c�rnffl?1 �

fi!: � � <1i) �?

��m�filo��··�3WTTchl�lTTt3WTTchl���m1''�
3TI.:f1 \ filo � *� �?

(iii) In a class of 29 students, Mahendra ranks 18th from the bottom. What is his rank from the
top?

29��-m���C�l���I\S?@C����?

29 01��<i41 �� 18 atlm awRI� ����cf;fum 3lflft?

(iv) If 'white' is called 'blue', 'blue' is called 'red', 'red' is called 'yellow', 'yellow' is called

'black', 'black' is called 'violet' and 'violet' is called 'orange', then what would be the
colour of human blood?
<lf.t �· C<li �·. �· C<j) 'c;tc,', �· C<j) �·. �· C<j) �·. �· C<j) 'e<ro�' ul�� 'e<ro�'

C<f. �• � �. �<l �l'i4C"t(kl � �� <fst?
<@!:''ful)·�·�·, '�'ffl'mft', 1 "Uffi 1ffl�. '�'ffl'�'. ·�·�·�·,

31R'�•�·�· � � 41f1fl<hl �-t<T*�?

(v) If ANACONDA is written as ANADNADN in a certain code, how will MOVEMENT be
written in the same code?
ANACONDA C<li � ��C<ISN><t1'6IC4 ANADNADN <FT��. '5C<l' �,C�N5<t1'6IC� MOVEMENT
C<li <1ir <Fl� WT?
<l'R ANACONDA��� ANADNADN <?Jf@-O iR MOVEMENTffl � � cfimT
�? 

(vi) How many letter/s will remain at the same position in the word 'LAYOUT' when they are
arranged in the alphabetical order from left to right? 

�; 
Your· � �·�1df>Ol � c� '51-iNC<tl >il'Sllt-il �. � �� �'f' �� iS'ITTJ'ifrn

� 'LAYOUT' !(li;<."'11� qofl1,c;1-,4111 �00 �� cfi@qa qUf �� �?
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( 11 ) WBPRBIPSI( M)/2018(GSA) 

(vii) What will be the number in place of the '?' mark based on relation of the numbers in other
two figures?
� ��m lfe� �,��m � '511�1m �� � Cffi �,� �?

� f-q34�t-ehl ftl-qcf,$1 ,mm{tl'l Jf5!{ � � � ¥1 "ff&U �?

(viii) If'+' means'-','-' means 'x', '+'means'+' and 'x' means '+' then what is the value of
<IN'+'�'-','-'� 'x', '+' � '+' I.Q<f, 'x' mr-:1' '+' � � >i�a-Jf&� lff.l Ff'rn � I
<1R '+' llA '-', '-' llA 'x', '+' llA '+' 3lR 'x' -irR '+' "-lV:�� B&-lichl llR f1cf>IC"j � I

10x5+3-2+3 

(ix) Arrange the following words according to the dictionary:
� ��� �� '61-i�lm �:... 
� f;$Q,<hl !ilcii;�<ictl� !ilcii;i:hlq � � �:
(a) Trinity
(b) Tool
(c) Town
(d) Twist
(e) Type

(x) Pick the odd one:
���:
� !ii�ctrt i9Fjt;'m:

Edmund Hillary, Tenzing Norgay, Bachindri Pal, Mihir Sen.
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2019 

PAPER II-ENGLISH 

Time Allowed - 1 Hour Full Marks-50 

Write answers only at the designated space of the answer book. No answer of 
a question other than i11 the space provided for it shall be evaluated. 
If the questions attempted are i11 excess of the prescribed number, 

only the questions attempted first up to the prescribed number 
shall be evaluated a11d the remai11ing 011es ig11ored. 

(a) Write on the growing decline of reading habits using the following points: . 
(easy access to internet - lesser time for books - inclination for summarised versions -

multiple sources of entertainment)

Or, 

(b) Give your views on images of women in the media using the following points:

( concept of womanhood since ancient times, stereotyped images of women in patriarchal society,

representation of women in films, advertisements, in the electronic and print media, changing

notions about women offering them newer and meaningful roles). 15 

2. Make a precis of the following passage in your own words and add an appropriate title: 10 

As daylight can be seen through very small holes, so little things will illustrate a person's 
character. Indeed, character consists in little acts, honourably performed in our daily lives. One of 
the most marked tests of character is the manner in which we conduct ourselves towards others. 
Graceful behaviour towards superiors, inferiors and equals is a constant source of pleasure. It indicates 
respect and humility. Every man may, to a great extent, be a self-educator in good behaviour. He can 
be civil and kind if he will, though he may not have a penny in his purse. Even a kind look can 
confer happiness. Gentleness in society is like the silent influence of light which gives colour to all 
nature. It is far more powerful than loudness or force, and far more fruitful. As Samuel Smiles said 
"Sow a thought, and you reap an act; sow an act, and you reap a habit; sow a habit and you reap a 
character; and sow a character and you reap a destiny." (approx. 170 words) 

3. Frame meaningful sentences with the fo]]owing phrases:

(a) go down the drain

(b) at cross purposes

(c) in keeping with

(d) behind the scenes

(e) left no stone unturned

4. Give the antonym of the underlined words in accordance with the conte t 1 x ua meamno·

11097 

(a) He was patient dealing with his anger and frustration.
c,• 

(b) The invaders laid barren the land they plundered and burnt.
(c) There was despair in the Australian camp following their defeat b 1 
(d 

· · 
b h 

. 
I d h' f . d d hi 

y n<lia. 
) His miserly e av1our e 1s nen s to esert m. 

(e) The summer heat made her lethaq�ic and listless.

5 

5 
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5. Translate the following passage into English: 15 

(For candidates who had opted for Bengali.) 

� � c� l!l<f\1,t � � � � � � 9l�zt I vr $� � � 9f!W-1, l!,J�rn 
� �<U l!l�?f � ��1Cli4 � � � 1�-i '5fta,t?j �Rw� ��(.<l-',!jJ!:JC<fl � 9J..m m�r
� � �.:i111!1�'51W <J��� � ����<ti C<fi� !� � "'1�c--=i� m� d11!1!4�c-0
'm:<U � <J1�C\!.l c'flf�, � <i)i&i<1il\!.lrn l!l<fl fi N,\!.le3l <Jf✓fm �'iilH�JC<i� � �� "If.CU 

� �'>fG, 

(For candidates who had opted for Nepali.) 

iiFn"�w. �1lfui\'�i):rn:� � �m ,��l'.R'lTT����w �fief.I 
-mu 1ffi �WIT� 3W{ "3"-tjry -qm � 7R "WTI �= � � i:rfuffi � � ef;J 
W@l\� 3lra����, ?-ll��?���� fqi{OIJ.fl�� � 

3lR W@ ct,k'tc:fimlcbl � 7Tffi f'l.T5J qffi 6llh1llf1@Hcbl �����I 

(For candidates who had opted for Hindi.) 

fl:Fft�����, 'Q,cfi�����1R�Tf<TTl���it%q@ Q!hlQ!h Brtnm

���� cin�m�m�mrft 3ffi�"BT2l 'ITI� arcrm"il�"\:l"R-�m 9s10 I 
�:�6B���� I� 31Tocim' i:f6Bcfifcf<:!T¥ifmrrT, m�?��-wFJ�ctil�
��if��� 3m: � cbl�lc:filctl chl �.wft <tl 'l.ffiR iTc3f � �Cf.lllf1@H ifiiro-"tfcra cfil 
��Wlll 

(For candidates who had opted for Urdu.) 

..:;.,}lJl:)lii.J1 ?-.1.1(4-rl:v'l�-'f--�;l}/,fJJ'(;Jl..:;.,}tL:=Yl=-'f-�2_L--:/t,;)1,::!t:)l.JIJ;,1J
J�rJ;t-�.::-,,J�

J '-'f-01.1Jb-:.;;.,}Jr�1e-L./J;,1J}�_7
JL;,fi.::----'�-'f-/LfiJJ;;j/.J:,1

luHi:J_,:;_ �,1tJ},-::.,.?.. ,?.
(

V::;;_t..,,�) s�� _,:;_ t?x ..::.,}J�L::;;_L./J;)Jl,)-L--: ..J�.1JI ,;r_.::::_, ·I I , , , , 
f_i.Jl Llf �r�✓-t,J 1?.-i.Jl �,1L)fjit.,� �l,n-7!( JA' j,/l:),v,1.::.-J� JJ;J.1� �jL?.
JJJ�fl:v'l(V�if-i.Jl z.....f �u:,f-v1 L\Jl..i&eJlr?.-i.Jl LJ1.1:/c...-v/}l:J,�jz...fui..:>�.1jl.?. 

_.:;:..,.J),1!1J:JIJIJ:Y\.,
o/-C-C-} 

4 -
" ":"' 
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2019 

PAPER Ill-BENGALI/NEPALI/HINDI/URDU 

Time Al/oll'ed - I Hour Full Marks - 50 

Write m1s11·as 011/y at the designated space of the a11swer book. 
No 011s11 ·cr to a question other than i11 the space prol'ided for it shall be evaluated. 

{{the questions mtempted are in excess of prescribed number. 
011/y the questions attempted.first up to the prescribed number 

shall be emluated and the remaining ones ignored. 
Use the alphabets X. Y, Zin place of name, address etc if necessary. 

Write 011 a11y MO topics in the language you had opted with the help of points 

gire11 in the bracke1s within �50 words each. 

(For candidates who had opted for Bengali.) 

I. Fl';iM� Cll � � � '5lc\G1�C� � �NiCc\'f� ��I 15x2=30 

(a) �mm� � '51N,<Jr,;{ (�g �. �. � �'1, � �'1)

(b) ffi-�'1 � Sj<,6\:l<i�1 (�g �. �. � �'1, 'j'j,� �)

(c) Si������� (�g �. �. \5l1�1C"i� �'1, \5l1Ul1iSt�Cl-f� �)

(For candidates who had opted for Nepali.) 

15x2=30 

(a) q.:i1cno1 � "{ � � (�: lH<1icl11-qllfcHOI � "ITT-J.l$,"<01c:fi1 c:fiF(OI(;{>-� >ITTiciiR TR

'41'1111(;{>-�)

(b) � �lc1¥llc:fidl (�: � �v.n=r-� 91d,:?ll(.""ll(;{i Ma,lc:fi"�- mc:fiRI �f1lll�l 91<3:?ll<.'"ll(;{>l-11

q1<:ffl��c:fic:fi1 3l'-flq- q1�©111 � q1o¥11<.'"11(;{>- man fcf,wm �- 39fhm:- � lfcl)

(c) 1•1(q1f�c:fi<fi\ �efl�sfil� 3Wf � � (�: @�911lc:h\ (;l(;lc:fil(-�� � "{ �-�­

$ilsl(;{><fi\ �-� 'i:itril'i'h .... l � �-� �q1(;{>c:h\ �� f.r:TTul-� �)

(For candidates who had opted for Hi11di.)

1. f1!lfflf�d �"11�<1im��'e)-�� 1R �: 15x2=30 

11096 

(a) •�� cf,1 ammf;rlrt''- � � J.lfocle:1 � 1
<� �f;im �m �11cfi1<1, � � amrcr� 1R � � i)

(b) •� mfslll cfil 341�4cll'- � � Slfocle,1 � 1
(� mfslll <nl oi419c:fidl, �. m � "Sl�, � ��qltrl)

(c) •�cfilm•-�� sifocli:!.1 �1
("c:filTGT, �'1-{Jif, -i!l•l{>c:ficll, � q:;q qiB ��)

Please Turn 0 -ver
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WR1'NR'l'Sl1,\fV�OI St lll.\'/11/l ') ( .' )

I • I LI ' • ,, ' • ·J I • I q) .. )1 U II r • ) ._;: ..!,. J � 1 � "(j ..:.:.. L) .. ..::.. � , .. (:I JI ,

(-=..n.:•;:,� ,·l;,-;=--L.Yl'\, /l.- 1 ·�..'\ i > ,f,.J b .� �. ·J
>,
,·L.l--:-- ,f,1.:,1� ;11,1 :, .. .Jff

(J· ,..::..I .�I ''-:" � -·f) ..::..� ,:,J_ J,,'itJ'J,·L 

\� --: ,.:;.. �-. P. '• L,�l ·) J 11b'u ;1n\.J.7 L:)C: ·,;:;

� <m=i11l � � : 

14k1)q1 �3ql< �: 

20 

-� Chinese lady who was l'" a \'isit tt, lndin some yL·ms ugo said 1h111 she wns 11111d1 ii11pn•ssl·d wilh
the beauty 1Jf the Taj Mahal l,f Agra: ir shl' had SL'l'n nothing else 1h1111 111111 in lndiu, she would hnvc 
fdc that her Yisit had 1wt lK·cn in \'ain. She spoke.: 11ho111 wlml c.:ven Chinn hud b1rnl l'n1111 l11di11. l11di11 
kid t�mght the peopk l'f China llWl' lll' pcHl'C' um\ trnnq11ili1y. It lrnd 1111d 1he111111111 I hey should live in 
a spirit 1.1f c0opemtion with thl' pl·npk nr nther rn11nlrks: lhnt is 10 sny, lhal they should help other 
pcopk and not subdue or destmy thl'III. She also spoke.: of those Chinese sc.:holnrs, who had visited 
India thousands of yt'.'ars agt, am\ l'Slnhlishcd a conlac.:I hc.:twc.:c.:n the two c.:ounlrics. She felt 111111 India 
h:id always been a source of g.00tl not only to China hut to lhe world al large. 

(for those who had opted !'or llimli)

., f1Yfctf&a 3i:i�< ciiT � ll � �: 20 

20 

��'Bf� t 1 � ,ij.:q,,@ � % ��'R«fl Ut:J 3TF-i@ � '� 1 Tfl¥), l=fcfiR, {l,p4',, v.rr�

�- <n9%. � � � '-lTfacnW9-�lln'.t�'RIBT * 3'.{rT � 111M1'9i� era '3Tl qiffi 'l� 'Tr •1i1uR � 
c€r � fqf¼ t ���Mt 1 � � zr� � � cfiT �..$-� � � i'mrT iT 1 7TT.r -311,::wni 
� %� � � {iBtcf,d 'TT m, � � qBtcf,d ��'Rt� mtfl �I� �17:@1 '{) ::Hf?-mi��:7.f 
mo1i,��*��-�r�tftt,itcf;�m��'*3Rl:�1 

tfor those who had opted for Urdu) 

2. 
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